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       CHAPTER 2:   QUADRATIC EQUATIONS 
 

 

        Paper 1 
 

Solution to Question 5 

 

(a) Area of plantation = 160 

              12x(x + 8) = 160 

              12x
2
 + 96x − 160 = 0 

                  3x
2
 + 24x − 40 = 0  

 

(b) (i) From (a), 3x
2
 + 24x − 40 = 0. 

  a = 3, b = 24, c = −40 

 

x = 
2 4

2

b b ac

a

− ± −
  

     = 
224 24 4(3)( 40)

2(3)

− ± − −
 

                           = 
24 576 480

6

− ± +
                    

                           = 
24 1 056

6

− +
 or  

24 1 056

6

− −
 

                           = 1.416    or    −9.416 

 

Thus, the positive value of x is 1.416. 

 

(ii) NW = 12x −2x  

                               = 10x  

                               = 10(1.416) 

                               = 14.16 m 

                

NV = 2 214.16 8+  

                              = 16.26 m 

 

 

 

 

 

 

 

 

NEXUS SPM ADDITIONAL MATHEMATICS FORM 4 & 5      

Page 27  (Step by-step Workings) 
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